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A (1,2,3)
B. (0, 2, 3)
C.(1,0,3)

D. (1,2, 0)

Answer: D
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4.f5=g31 P(1, 5, 0) @1 Q(2, 3, 2) oI et arail
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Al 22
3’373
gL _2 2
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c_L1 22
3’ 3’73
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Answer: B
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5. fpell ot gfo SO § Rig ST B

a-+ a = a.
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2Pl Ffeol siTd AT |
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9. afe (z —|—'iy)1/3 = a + b, STel
a,b,z,y € R, a Ng $HEw e

r vy _ 2 22
a—i—b—4(a b).
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12. U HU R BRRA diF JHdT g1 HUT Pl
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13. N Wiside Il & aq=d & | I N x N
W Hs G R 39U YHR URUIfd & &
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(a,b)R(c,d) & a+d=b+c STal

a,b,c,d, € N, dl g $ifaiv fs R Th o

T g |
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BT al +bm +cen =0 qaaT
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fmn + gnl + hlm = 0 ¥ UId 8idl €, JHR

PhaR | /af + /bg + v/ch = 0.
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15. g bifsiv fp fog
A(—1,4, —3),B(3,4, —5),C(—3,8, —5)

aar D( — 3,2, 1) g9de 8|
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16. u T T XA ATt B BT v BT A I8 arelt Aar
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gfe oRT fob faen & 3 & gt & dF =4 H ¢,
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t1:ts = \/u + v:y/u —v.
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x2n + 1
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